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S ZAR
S ZAHE
el ZArE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXMAHZAL R38R 24 2,000
308 AXIMSOIA 14,092 11,648 2,444
18 SIS0t HAS A 14,092 11,648 2,444
OF e AAE RAIZ==H| 14,092
405 AtaHE = 20,309 1,000 19,309
01 T ESFISHI 20,309 1,000 19,309
OZAte AIRY HAEI| S FY 20,309
geayacl 130,950 138,950 28,000
S HM 2 114,900 124,900 10,000
201 er23 | 89,800 89,800 0
01 At2t2ltl 89,800 89,800 0
OBIS A HgHl & 543
4,400,000& *183] 79,200
OLBHSA =& 400,000 <2+ 122 9,600
OBEZEAMHIA 0188 1,000
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
OLsrd g2 A 3,000
303 Z&a= 2,100 2,100
01 Za= 2,100 2,100
O4s &l 2a=
100,000& 3 »7A 2,100
305 HHal= s 20,000 30,000 10,000
01 tie=S 20,000 30,000 10,000
O4&HIE e 20,000
THOHE 2t 10,170 8,170 2,000
201 2= 5,170 5,170 0
01 At22t2ltl 5,170 5,170 0
O NS SE33tus
700,000& 12 700
ORISR BL+
70,0008 x7H =33 1,470
OIS 82= MA 3,000
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
OTMINE JISHZAtE &= L2ES
20,0003 x38 50 3,000
303 Z&a= 2,000 2,000
01 Za= 2,000 2,000
OIS %At Z&S K=
400,000 x5 2,000
HFNAES 2T 2 5,880 5,880
201 =3 4,680 4,680 0




S ZAR
S ZAHE
el BREd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 4,680 4,680 0
OLAHNIES B22 HX 3,000
OXZA s22ds &8¢
70,0003 122 +23] 1,680
202 04| 1,200 1,200
01 =LHOHI 1,200 1,200
OEAMIA ns2I &#X=el
20,0003 1 +60 1,200
gditsso ddgy Hat 246,689 305,439 AB8,750
=S 68,740
Al 177,949
di2ele Walls =& 246,689 305,439 A\58,750
== 68,740
Al 177,949
giotzel gdsh =a 101,914 81,420 20,494
201 Ler23 | 18,914 27,420 28,506
01 At2t2ltl 4,200 14,200 10,000
Odtatel XA 8otRIesl 4
70, 0002162 43| 1,680
OFMuRT MRS BA2Y
70,0002 x62H +33] 1,260
Ol - 20)|2 284223 B4+E
70,0002 x0H *23] 1,260
2 35244l 14,714 13,220 1,494
OSgd 2| AIAE FA2=+H 14,714
207 ARl 33,000 33,000
01 H2E4H| 33,000 33,000
O8N ER OItH 22| &8 ES 20,000
Ol - 20)|2 J88It & NHHE 89 13,000
303 Zal= 50,000 21,000 29,000
01 Z&= 50,000 21,000 29,000
OS2 KB RS2 HAMEIE (A Dt
4 - SHE) 50,000
ESES 3,000,000 «8IH = Al 24,000
P 2,000,000& * 130 L Al 26,000
Antze] 2435 FE(EX) 44,920 45,300 A380
== 44,920
201 Ler=23 | 28,920 27,300 1,620
= 28,920
01 AtR2t2lt] 28,920 27,300 1,620
OXIAH S8t U8 HEE 5,000
== 5,000
OXIAH S8 & gos Ast 23 2
= 3,920




S ZAR
MM QS0 YA A5
ool AnEelel HAYs XX (cre:xigl)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 3,920
OXIAN e8It g9t S22 |35 20,000
T 20,000
303 Zal= 16,000 18,000 A2,000
T 16,000
01 Z&=2 16,000 18,000 A2,000
OXIXM =8It 244K 4 QHEE
X3 16,000
& 16,000
2E SHEAM F& 52,218 132,229 280,011
101 @124 d| 14,127 22,517 28,390
M IIRHMZ2Z2 RS2+ 14,127 22,517 28,390
OALH AL 22| X
(3282 %81,840& ) *70% 4,813
OAMLXMTEAF ZAFKIR 22| Kt
(194%282%78,880 ) x70% 1,547
OALHZAN S22 Xt
(124%282 %81, 8402 ) x70% 1,605
OMYMZTAL S22
(3182 %78,880& ) *70% 2,982
OMEHZTAL Q¥ E8F
10,497,000& *11.5% 1,208
OSHHE A8
78,8303 x252+1H 1,972
201 B2 AY| 37,091 78,652 A41,561
01 AtR2telt] 37,091 78,652 A41,561
OMXMEAL ZALE =S
(174 %262*78,8302 ) 7(% 24,406
OAMAXMZAL ZAHR W SH|
(178 *252 6,000 ) x70% 1,785
OSHHE M= 40,0002 *60S 2,400
OAISIZEMEDN MZ 40,0003 #7552 3,000
OSH=& H& 20,0003 x2005 4,000
OSHZEAN 28 ¥ 257 1,500
202 0441 1,000 1,000
01 =2LHO4 ] 1,000 1,000
OsHER =& 1,000
24E SEHEA FR(EX) 47,637 46,490 1,147
& 23,820
Al 23,817
101 2124d| 5,551 5,169 382
& 2,776
Al 2,775
M IIZHNZ2 2 NS Es 5,551 5,169 382
OTS A2 AL 2te|& 21| 5,551




S 2

Hu: HYTAC BIAY 23l
el AnEelol Has &
S A - BRI - HRA - BES of e A
< 2,776
Al 2,775
201 Ler=23 | 42,086 41,321
= 21,044
Al 21,042
01 AtR2t2|HI 42,086 41,321
OB S AR AL 23 AR 22| 9,587
=S 4,794
Al 4,793
OHEZABIEZA ZAHR =E 32,49
< 16,250
Al 16,249
SN2 AAH(ZALA) 3,600 3,600 0
Jl2ZHI(ZArA) 3,600 3,600 0
JlE2ZHI(ZArA) 3,600 3,600 0
203 B2 =L 3,600 3,600 0
M FA2HLRFEI 3,600 3,600 0
ORAM2EER=2] 300,000& * 122 3,600




